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Q.1 Two coils 𝐗 and 𝐘 are placed in a circuit such that when the current changes by 𝟐 𝐀 in coil 𝐗 the 

magnetic flux changes by 𝟎. 𝟒 𝐖𝐛 in𝐘. The value of mutual inductance of the coils is- 

 
(A)0.2 H (B)5 H (C)0.8 H (D)4 H 

 

Q.2 A long straight wire carrying current 𝐢 is placed along the axis of a circular ring of radius𝐑. The 

mutual inductance of this system is 

 

(A)
μ0R

2
 (B)

μ0πR

2
 (C)

μ0

2
 (D)Zero 

 

Q.3 Coil of 𝟏𝟎𝟎 turns and having radius 𝟏 𝐜𝐦 is kept co-axially within a long solenoid of 𝟖 turns per 𝐜𝐦 

with radius𝟓 𝐜𝐦. Find the mutual inductance between the coil and solenoid- 

 
(A)2.25 × 10−5 H (B)4.75 × 10−5 H (C)1.35 × 10−5 H (D)3.15 × 10−5 H 

 

Q.4 Two coaxial coils are very close to each other and their mutual inductance is𝟑 𝐇. If a current 

𝐢𝟏 = 𝟐sin𝟑𝟎𝐭 𝐀 is passing through the first coil, then find the peak value of induced 𝐞𝐦𝐟 in the second 

coil. 

 

(A)0 V (B)90 V (C)
180

 2
 V (D)180 V 

 

Q.5 The equivalent inductance between points 𝐏 and 𝐐 is 
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(A)2 H (B)4 H (C)6 H (D)8 H 

 

Q.6 Two inductances connected in parallel are equivalent to a single inductance of 𝟏. 𝟓 𝐇 and when 

connected in series are equivalent to a single inductance of 𝟖 𝐇. The difference in their inductance is- 

 
(A)3 H (B)7.5 H (C)2 H (D)4 H 

 

Q.7 Find the equivalent inductance in the combination given below between points 𝐀 and𝐁. 

 
(A)3.8 Mh (B)3.1 mH (C)2.4 mH (D)5.6 Mh 

 

Q.8 The time constant of the given circuit is- 

 
(A)0.032 s (B)0.032 s (C)0.18 s (D)1.07 s 

 

Q.9 If the voltage of a source in an AC circuit is represented by the equation, 𝓔 = 𝟐𝟐𝟎 𝟐𝐬𝐢𝐧 𝟑𝟏𝟒𝐭 . The 

frequency of the voltage is – 

(A)100 Hz (B)50 Hz (C)200 Hz (D)150 Hz 

 

Q.10 If the voltage of a source in an AC circuit is represented by the equation, 𝓔 = 𝟐𝟐𝟎 𝟐𝐬𝐢𝐧 𝟑𝟏𝟒𝐭 . 

Calculate the peak value of the current if the net resistance of the circuit is𝟐𝟐𝟎 𝛀. 

(A)1.8 A (B)1.6 A (C)1.4 A (D)1.2 A 
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ANSWER KEY 

 

Q. 1 2 3 4 5 6 7 8 9 10 

Sol. (A) (D) (D) (D) (A) (D) (B) (D) (B) (C) 

 


